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∞
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=

∫
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=
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=
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=

2
−

3
=

0.125

�fr�3�3�d�	�3��o�gs��c*��c*�����sa@fr�@�3c�����c*���d�	o��(��c*a@���ha@e�c*��c�a@g(�r���@¡"k£¢��3�hc*a� �gso��d�@fr�@e3c*���bfha@g(�r�d�Klno��3�d�

p��3�rc�a@��o�e�c��1��o�����c¤��c�o��, "c�aV¥�l�c�e

β
=

3¦

P
(X

≤
3.5

|
X

>
2)

=
P

(X
≤

3.5∩
X

>
2)

P
(X

>
2)

=
P

(X
≤

3.5)−
P

(X
≤

2))

P
(X

>
2)

=
F

(3.5)−
F

(2)

1−
F

(2)
=

(1−
3.5

−
3)−

(1−
2
−

3)

0.125
=

0.813

{ | �fr�3�3�d�	�3��o�gs��c*���dlMfr�	�do�l�c�ado��3gs�dc�����o�lnfr���sa�c*��  ��§#¨���sa

β ©

�o�l��3�ª�«fh�(��c������3c*��c��¬���sa

X
1 ,...,X

n c*a

f
(x

1 ,...,x
n ;β

)­�®�¯d°�± =
∏

ni=
1
f
(x

i ;β
)

=
∏

ni=
1
β
x
−

β
−

1

i

k

²Ko�l�c���o�gs�3c��������3�3�&���d�s��c��Pc�a��do�l��3�ª�«fh�"���sa�e3c*��o��3gsc��M��c*�d�@�b���d�sl³���3���	�$�d�s�Hf��

β  3�hg��'fh�1���&ado��sc*�

�d�sl

L
(x

1 ,...,x
n ;β

)
=

β
n

n
∏i=

1

x
−

β
−

1

i
.

4"5�637�
��:&;=<

�3§�¨c�a�e3c*�1�hc�ade3o�c*�1���sa

β ���hllMfr�	�do�l�c�adc�a

L
(x

1 ,...,x
n ;β

) k3}�c*�3�3c�sc�ade3o�c*��
�3�3�3c�a�	o��hc�e

���sad�d�����«f����hg(fha�oª��l�c��� 	����e3c*a�oª�sc�adc9�hg��dc*�d��c��o��.q©

l(x
1 ,...,x

n ;β
)

=
ln

(L
(x

1 ,...,x
n ;β

))
=

ln

(

β
n

n
∏i=

1

x
−

β
−

1

i

)

=
ln

(β
n)

+
ln

(

n
∏i=

1

x
−

β
−

1

i

)

=
n

ln
(β

)
+

n
∑i=

1

(−
(β

+
1)

ln
(x

i ))
=

n
ln

(β
)−

(β
+

1)
n
∑i=

1

ln
(x

i )

d
l(x

1 ,...,x
n ;β

)

d
β

=
nβ
−

n
∑i=

1

ln
(x

i )
=

0

β
=

n
∑

ni=
1
ln

(x
i )

}�c�����c9gso�a�fr� �3§�¨���sa

β c*a

β̂
=

β̂
1

=
n

∑

ni=
1
ln

X
i .

���ha�	o��dc*�d��c�aKo��3�Pe3c�� ��c*ad�hc�ad��cV�hc�ade3o�c*�3cV���ra�"o����h��gsc*�3e3c¤c�����o�lMfr�����ha

β©

β̂
=

β̂
1

=
n

∑

ni=
1
ln

x
i

=
10

3.39
=

2.95.

� |�
��o3���'fh�����ha��d�C�"o���cKfr�

2β
ln

(X
i ) c�a ���do��(�rfhe3a�fr�����ha�e3c*���l�c�e�p���ado��3c����dgsa�fhe�c�a@¥��d�slc�a e3c����fhl�lnc

�d�slc��1c��&�d�%�s��c��3�do�fh�ª���sa�e3c*��o��3g¦ k

��f

Y
i
=

2β
ln

(X
i ) k	��o��'fh�


�b�3��cV��fh�3�3���	�3��o�gs�3c*���d���sade3c���o��3ghc��.��o��

Y
i �sc*e#�� ad�3�hc¤��a�fh�3�����sa�lnf��

�$�d�s�3�d���ha�l�c���c*�z¥��	o���c*a@��c�a� �had����a�f�o��3e3c��&�dc��

i o��"����c*e3�3o��3gsc��¦ k
��f

y
=

u
(x

)
=

2β
ln

(x
),

����o��.f'�

x
=

w
(y

)
=

ex
p
(

y2β
).

��f

f
Y
(y

) ���a�c��fh�3�3���"����o�gh�3c*���d��c������3c*��c�����o��

Y k
��a�fh�3�����sa�lnfh���d�h�3�d���sadlnc*��c*�E��o�c*a�ebf�fr�

f
Y
(y

)
=

f
X

(w
(y

))|w
′(y

)|.

��o�e3c�ado��sc*a�c*a

w
(y

) �sg����ha

w
′(y

)
=

12β
ex

p
(

y2β
) k �fh�3�3���"����o�gh�3c*���d��c������3c*��c�����o��

Y� ��o�aebf

f
Y
(y

)
=

f
X

(w
(y

))|w
′(y

)|
=

β
(ex

p
(

y2β
))
−

β
−

1
12β

ex
p
(

y2β
)

=
12

ex
p
((−

β
−

1)
y2β

)
ex

p
(

y2β
)

=
12

ex
p
(−

β
y2β
−

y2β
+

y2β
)

=
12

ex
p
(−

y2
).



4"5�637�
��:&;=<

�K����a��	�	�rc*�����sa
f

Y
(y

) �'fh�P�d�	ado��hc��

f
Y
(y

)
=

1

2
2
/
2Γ

(2/2) y
2
/
2−

1
ex

p
(−

y2
),

�do�e3c*�

Γ
(2/2)

=
Γ
(1)

=
1 kZ}�c*�d��c�c�a���fh�3���d�	�3��o�gs�3c����d��c*�d���3c���c��¬���sa�c��¬���do��(�rfhe3a�fr�����ha�e3c*�����������

�'fh����o��d���rfhado�f� c���l�c�e1p9��a�o��3c*����gsa�fhe3c*a�k"}�c�adlnc*e1�3fha�	o%�	o����Kfr�

Y
i
=

2β
ln

(X
i ) c�a���do��(�rfhe3a�fr��

���sade3c��ª�Klnc*e�p���ado��3c����dgsa�fhe�c�a� be"�"�*k
Y

i ∼
χ

22 k

��f

Z
=

2β
∑

ni=
1
ln

(X
i ) k §c�e

Y
i
=

2β
ln

(X
i ) �bfra�"o�f'�

Z
=

2β

n
∑i=

1

ln
(X

i )
=

n
∑i=

1

2β
ln

(X
i )

=

n
∑i=

1

Y
i .

��o��bfha��	o��d��f'�

Y
i ∼

χ
22   �sg~��o�e3c��c�����3lR

f��w�bf��	�3c*�3gso�ghc1���do��&�rfhe�a�fr�d���sa�e3c*����c.�d���s�'fh�d��o����rc

�rfhado�f� ��c�a�c*a=���do��(�hfre3a�fr�d���sa�e�c����� Cl�c�ew����lnl�c��f����a�o��3c*����gsa�fhe3c���ch  c�a

Z
=

2β
∑

ni=
1
ln

(X
i )

���do��(�rfhe3a�fr�����ha�e3c*����l�c�e

∑

ni=
1
2

=
2n ��ado��3c����dgsa�fhe�c�a�k

�@�s�	�be3c*�3��o��(��c�a��rfh�������sa

β ©

��o� a��3�rc�a�fr�

Z
=

2β
∑

ni=
1
ln

(X
i )∼

χ
22
n k
��f

α
=

0.05 k	��o����ra�ebfnf'�
P

(χ
21−

α
/
2
,2

n
<

Z
<

χ
2α

/
2
,2

n )
=

1−
α

P
(χ

21−
α

/
2
,2

n
<

2β
n
∑i=

1

ln
(X

i )
<

χ
2α

/
2
,2

n )
=

1−
α

P
(

χ
21−

α
/
2
,2

n

2
∑

ni=
1
ln

(X
i )

<
β

<
χ

2α
/
2
,2

n

2
∑

ni=
1
ln

(X
i ) )

=
1−

α

¨��j(¢�
���h�s�	�3e3c��3�do��(��c*ad�rfh�������ha

β � ��o�ae3f

[

χ
21−

0
.0

2
5
,2

n

2
∑

ni=
1
ln

(x
i )

<
β

<
χ

20
.0

2
5
,2

n

2
∑

ni=
1
ln

(x
i )

]

��3��fr���@�� ��c�a��sc*ad��cV�sc*a�e3o�c�a����ha�	o

[

9.591

2·
3.39

<
β

<
34.170

2·3.39

]

=
[1.41,5.04].

u�������(����
�

	���b���*� ����
��(�-z�b�����

X

c�aE�(�	���"c*a�gsc*�slnc���ado����w���sade3c��ª�.l�c�e

N
=

1000 ����a�c�a* 

k
=

5 ����a�c�aE���d�sadc�aM��a�fh�������sad��ba�lnfhc*�

g��dc��3�3�hl�dc��(��ad�3l�sg

N
−

k
=

995 ����c*�3�sl��c*�&��a��3l1 3�sg9�"o%�«fhaOc��P�d��o��&�&�3a����scf��M�d���ha�a�c*���dc

n
=

5 k


c���o���gsc�����c�a©

4"5�637�
��:&;=<

• ¨�¤��o�����c*��e3o�gM���d�rfh��gEf��¬�����sada�c*����c

n ��fh��
��
���	�P��o��� fh�rc���c�gsgso��3gn��a�f

N

c��3�3c���c*a�k�

�c*a© c��¤��o��ª��c���e3o�g

���d�rfh��g=f��

n
=

5 ���3a�c*a@�$�dc��&�hc��� ��fh�(�

N

���3adc�a��d�sl³���r�«fh�ª�����d�sa�c*��k

• }�c

N

c*�3�3c���c���c�e�c���c*�¤o��3�¬o����Egsad�3�3��c�a� 

k ���3�&��c*���dc�aV�sg

N
−

k

��fh���r�"c*a�k�

@c�a©

k
=

5 ���3a�c*a

���d�sadc��Kg��dc*�3�3�sl³��c��(��a��3l�sg

N
−

k
=

995 ����a�c�a����d�sadc��@����c*�3�sl�dc��(��ad�3l1k

•
X

c*a�fr�&��fh����c*���d�3�&��c*����c*a� ��fh�(�Ke3c

n k


@c�a©

X

c*a@fh�(�«fh���%����a�c�aKg��dc��3���sl³�dc��(��ad�3lf��Ee3c

n
=

5

���3a�c*�3c9�d�sl� ��c¤���dc*�	�rc*��k

� �3�3�(����fh�3�3���	�3��o�gs�3c*��c��HoZ�&�	��c�adgsc��sl�c*��a�o����M���sade3c���o��3g� 

N
=

1000,k
=

5,n
=

5 c�aKgsoª�����d�sl©

P
(X

=
x
)

=

(

5x

)
(

9
9
5

5−
x

)

(

1
0
0
0

5

)

�sg=l��3��o�gsc��sc�ade3o�c*a����sa

x c*a

0,1,2,3,4,5 k

P
(X

=
0)

=

(

50

)
(

9
9
5

5−
0

)

(

1
0
0
0

5

)
=

0.9752

�o�e3c��

P
(X

=
0)

=
0.975 lM�

x
=

0 ��adcYe3c*���hc�a�e�o�c��Hf��

x �d�slgso�a@�����hc������3�3���&����fh���3�d�	�3��o�gs�3c��

¥��do�e3c*�����lnl�c��/f��zfh����c��3���3�(����fr�3�3�d�	�3��o�gs��c*��c*a�c�aniM�'fh�zo��3gsc*�fh���3c�����3�3�(����fh�3�3���"����o�gh�3c*�����adc

�d���sa�adcc��3�i�q"kj�
�h¢¦ k

P
(X

=
5)

=

(

55

)
(

9
9
5

0

)

(

1
0
0
0

5

)
=

1.21·
10

−
1
3

��o��Z��fhl�lnc*�3��o�gs�3o��3gYc*a@��fh�3�3���	�3��o�gs�3c*��c��P���saK���"o��3�3c�
��a�c�����co����h�����

1.85·
10

−
7 k

�.��--/�	�%
����¬v

�
���ha

N

c�a@�d���sa�o����sad�3�s��e1��o��

n ¥� �s�'fn�3c��	�3c�a����sl���slnl�c���b�3gsc*a�adc�gsc*��fr�

n
/N

≤
0.05  �sg¬�3c*a�c�a��d�

5/1000
=

0.005 ¦ ���¬�rfr�� o��3�sl�o��d�¬���sa�e3c*��o��3g� ad�3�hc*�n�d�sl
c*�w��o����
�a�l�o��3g1��o��

�(�	�%c*a�gsc*�slnc���ado��������sa�e�c���o��3g��b�ra�"oZa�c�gh�3c�a����K��fh�3�3���	�3��o�gs�3c*��c�a*kb}�f�g��d�ha�	o

n
=

5 ���sad���s�n�sg�o��(�sc*ad�

���sad���s�_�$�dc��&�hc*an�	oK�sl
��a�fh�3�����sa���c�������dc�a�g��dc��3�3�hl

� �	���dc�ad�3c��Z 

p
=

kN
=

5

1
0
0
0 c*a=��fh�3���d�	�3��o�gs�3c��

���sa���a�fh�3�d�%�sa���g��dc����3�sl� �	���dc*a��3c*�� ��sg

X

c�a�fh�(�«fh������a�fh�3�����sa���c�aKg��dc��3���sl� �"���dc*a��3c*�H���saKe3c

n
=

5

�3�3e�c�a��d�s�(��k�}�f=�'fh�����3�3�(����fh�3�d�	�3��o�gs��c*��c*����o��

X

��o�����a�l�c���l�c�e

P
(X

=
x
)

=

(

nx

)

(
kN

)
x(1−

kN
)
n
−

x
=

(

5x

)

(
5

1000
)
x(1−

5

1000
)
5−

x



4"5�637���:&;=<

��o�e3c�adcc�a���o����
�adlnc��©
P

(X
=

0)
=

(

50

)

(
5

1000
)
0(1−

5

1000
)
5−

0
=

(1−
5

1000
)
5

=
0.975

P
(X

=
5)

=

(

55

)

(
5

1000
)
5(1−

5

1000
)
5−

5
=

(
5

1000
)
5

=
3.125·

10
−

1
2

�.��--/�	�%
����
�
� }�c����3cM�s���3g(f��sc*�c�a� fh�dc�ad�9�b�Pc��z�3c��(�sc*�3e3c*����cn��a�fPc��z��o�e3��o�gsc*a�c� �	gsg��2�d���3e3c��(�� 

�sg1c�a� fh�dc�a��Y�b�E��fh�(��o����rc=���ha��3�s��e�k�}��hg3 ���a�fh�3�����sa���badlMfhc��V��fE���sa����Yf'�Vfh����cEi�qsqsq.����a�c���c��rfha¤���d�sa��

����c��3�sl
� �	���dc�ad�3c���sg~�	���c�����c*a�fr��e3c� cEl��h���=l�c�e_��fh�(��f~�3�zfr�=����o��	�&�3ad���sc�f��w¢H���3a�c*a��"o��d��c

��a�fh�3�d�%�sa��g��dc*�3�3�sl� �	���dc*a��3c*�/���Po������sadlnc*ad��c9e3c��sl
fr�¤e3c���&�3��rfha�fh�&�	��a�fr�e3o����dc�¢n���3adc��3c�¥0f��

e3c=i�qsqhq¦ ���hl³�bfhe�e3c� ��oª������d�sa��Kg��dc*�3�3�sl� �"���dc*a��3c*��k��f��h������c*�3�hc�s�d��f'���"oZ��c�aK�b��e3c�����c¤���slc*�

�(�	�%�h��c��dc*��c*�d�� �e3c�a��	o��s�3�d�hc�a�
�b�3�3c��"�¤�sle3c*��c�a�gha��3�3�H��o����n��a��Efr����a�fh�3�����sa���badlMfhc����3fha����d�sa��

l�c�a�c����

k
=

5 f��.���3a�c*�3c9g��dc����3�sl� �	���dc�ad�3c��©

H
0

:
k

=
5 �	��k

H
1

:
k

>
5

P

�2�sc*a�e3o�c��1��o�����c��d��c��#�	o�����c����a��¤�nadc�gs��cY���

P
(X

=
5) ���hl�	o��bfha@g��d�had�@o��s�3�3g(f��hc��� %�sgMe3c*�3�3c9c�a

1.21·10
−

1
3  &���hl�	o�����c���sa����o��bf'��	o3���sad�'fh�d��c*��&�3�����&�	���h��c*��c*�M�sg¤�	o�����c��ad�Vfr���bc�adc�c*�3�

5 ��a�fh�3�d�%�had��c*a

�rfhaK���d�sad�Kg��dc��3���sl� �	���dc�a���c���k §c��Z �e�c*����c¤�hfra�o��&�hcl�c�e1o��s�3�3gsf��hc���k

u�������(����
�

	����
�
�+2�3�*
	���&
��(�-����{C!���
�
��&�

� e3c*�3�3c��s���3g(f��sc�c�a

Y �3�sadlMfh�ª���sa�e�c����l�c�e

µ
=

E
(Y

)  	gso��d�o §
��fE¥10

6

�Cfh��
�fh�¦  &�sgY���«fh��ebfha�e3f��&�	o��
σ

=
S
D

(Y
)

=
0.21 §

�Cf�k

�%|

Y
∼

N
(2.10,0.21

2) k


K�hfc�a���fh���3�d�	�3��o�gs�3c���c*����sanfr��c����o�����c*��e3o�g#�rfh��gr�nlY�3a� ���s�&��bfha�c����ad�	�&�(��fh�d���3c*�.���slR
c*a

�3���hc�a�cVc����

1.83 §
�Cf� �e��	��k

P
(Y

>
1.83)�

P
(Y

>
1.83)

=
1−

P
(Y

≤
1.83)

=
1−

P
( Y

−
2.10

0.21
≤

1.83−
2.10

0.21
)

=
1−

P
(Z

≤
−

1.29)

=
1−

Φ
(−

1.29)
=

1−
0.0985

=
0.9015


K�hf¤c*a ��fh�3���d�	�3��o�gs�3c���c������safr�c�����o�����c*��e3o�g@�rfh��gh�l���a� ���s�&�Y�bfhaCc��=��ad�	�&�(��fh�d���3c*��d�slTf��&�	o��hc*a

l�o��3e�a�c¤c����

0.3 §
��f=��a�f����had�sc*�(���3o��3gs�d�hc�ade3o�c*�

µ
=

2.10 §
��f�

4"5�637�
�Y:&;=<

P
(|Y

−
µ|

<
0.2)

=
P

(−
0.3

<
Y
−

µ
≤

0.3)
=

P
(Y

−
µ
≤

0.3)−
P

(Y
−

µ
≤
−

0.3)

=
P

( Y
−

2.10

0.21
≤

0.3

0.21
)−

P
( Y

−
2.10

0.21
≤
−

0.3

0.21
)

=
Φ

(1.43)−
Φ

(−
1.43)

=
0.9236−

0.0764
=

0.8472

��ob��c�a�b�lM�r��o���gf��Y��ad�	�&�(��fh�d���3c*�O���sa

n
=

24 ��o�����c*��e3o�g��rfh��gh��c�l���a� ���s�&�hc�a��a�f¤�3ad�"e��3�&���d�s�3c*��k


K�hf=c�a���fh�3�3���	�3��o�gs�3c*��c��1���saKfr�Ke3c*��l�o��3����c¤ln�h��o��3gsc*�M�	o��Z���a�c��f��hc�adcVc*�3�

1.83 §
�Cf�

P
(Y

m
in ≤

1.83)
=

1−
P

(Y
m

in
>

1.83)
=

1−
P

(Y
1
>

1.83∩
Y

2
>

1.83∩
···∩

Y
2
4

>
1.83)

=
1−

[P
(Y

>
1.83)]

2
4

=
1−

[1−
P

(Y
≤

1.83)]
2
4

=
1−

(0.9015)
2
4

=
0.917

}�c*a���sc*a�g(fr�3gsc��n��a�fV���ha��d��c���o���fh�3e�a�c���o��'�dc�c*a�b�Vgsa����3�Ef��=�bf��	�3c��3gho�gs�3c��o�ln�h�����a��	�	�(��fh�����3c��

l�c������sl��o�����c*��e3o�g9�rfh��gr��c¤l��3a� ���h�	�rc�a*k

{ |

c*e3a�oª�$��c*�1�h�3���rc�a��=���3e3c�ad���s�rcY�sle3c*�@c*a�gsa��3���1��o�������a���fr�����sa��sc��(��c*�@��ad�	�&�(��fh�d���3c*�@���sa�e3c*�

�(�sc��	�%c*�#l���a� ���s�&�hc�aKc*a���f��sc*a�cc��3�

2.40 §
��f�k

�@�3�����sg�fh����c�ad�bfr��oª�M�(�	���h��c*��c©

H
0

:
µ

=
2.40

H
1

:
µ

<
2.40


@c�aK��c*aK�	o��b�=�bfha�fhl�c*��c*a�c*�

µ ���hl�3���dc��(�@�sg=�bfha�fhlnc���c*a�c��

σ
=

0.21 c*a@���dc*�&��k

��&��f�fr��	oZ�3fhaln�h�����a��	�	�(��fh�����3c��K��o��

n ��o�����c*��e3o�g¤�hfr��gh��c�l��3a� ���h�	�rc�a* ��sg��'fh���%e�o����dc

Y
1 ,...,Y

n k

��o���c*�d��c*aK�	o��s���1���s��gsc���e3c¤c�����o�lnfr���sa���sa

µ k

µ̂
=

1n

n
∑i=

1

Y
i
=

Y

��o��sc*��fr�@�3��e3c�a

H
0 ����c�a

Z
0

=
(Y

−
2.40)

σ
·
√

1n

�d�«fr�3ebfhade��3�ha�lnfh�����sade3c��ª�

N
(0,1).

��o%�	o������sa��'fh����c

H
0 �b�ha

Z
0 ≤

k  "e�c�a�r�s�3�d��fh�(��c*�

k

�b�3�3c*������o��=fr�
��	��c����c�o���c*�Mc�aO�h�s�(��a��s����c�a��

�b�=�3oª���

α k

P
(Z

0 ≤
k|H

0 ��fh���

)
≤

α

k
≤

−
z

α

e3c*a
z

α c*a

α

��(�rfh�(��o���c��Eo�c*�����«fh��ebfha�e1�3�sadlMfr�����sade3c���o��3g3k



4"5�637�
��:&;=<

`b�sad�rfr�d����o��3gs�dlna��he3c© `��ha��'fh�d�

H
0 �b�ha

Z
0 ≤

−
z

α k
��ª��c�ad�bfr��o��&���rfr��	oK���s�dc��������sa

Y

�sgz���ha

�3c*����c�a�a�c*gsc���c��© `��ha��'fh�d�

H
0 �b�ha

Y
≤

2.40
+

z
α
σ
·
√

1n  bo��3�3��fr���

σ
=

0.21 k

���ha

α
=

0.05 c*a
z
0
.0

5
=

1.645  3�sg=o��s�3��g(f��sc��1c�aKe3c��@�s�3�3gsoª���Kf'�

n
=

24 �sg

y
=

2.30 k

}�c*a�l�c�e1c�a

z
0

=
y−

2
.4

0

σ
· √

1n

=
2
.3

0−
2
.4

0

0
.2

1 √
12
4

=
−

2.33 k

�o�e3c��

z
0

=
−

2.33
<
−

z
0
.0

5
=
−

1.645 �������sa��'fh����c�a�	o

H
0 �b�=�3o��"�

α
=

0.05  h�hg¤�h�s�3�&���3e3c�adc�a

l�c�e1fr�K��a��	�	�(��fh�����3c���c*�#c�aKl�o��3e�a�c¤c����

2.40 §
�Cf"k

���z�	o��K�"o@��c#�&�h�sa.��c*���ne3c��Ec�aM�z���sa��'fh����c

H
0 lnc*ea�c*gsc���c���"�han�&�	o��MoK�"o�a��rc���o�gs�3c���c��

µ
=

2.30 §
�Cf"k&}�c��3��c@��fh�3�3���	�3��o�gs�3c*��c���c�af��	�3c���gso�gVf����"�had� �rfh��gh��c��o�gh�3o�b�'fh�����3oª�h���hgV�(�h�salMfh��

gsc��� ��c*ad�rfh���d�h�3c�a¤�	o�bfha� a��3�(�¤��o���.��fhgscY��c��d��c��~�"�ha�¥��	o�bfra¤c*��d���sa�adc����sa��'fh�����3o��3gs�d�slna��he3c

�b�raK�	o��bfra�lMfh��gsc¤�� �dc�ad�rfh�$�d�s�3c*a¦ k�}�c*����c� c*��c�gs��c���
�����	���	�����
	�
�	�bk

P
( `b�sad�'fh�d��c

H
0 |H

0 g(fh���sg

µ
=

2.30)
=

P
(Z

0
<
−

z
α |µ

=
2.30)

=
P

( Y
≤

2.40
+

z
α
σ
·
√

1n |µ
=

2.30)

=
P

( Ȳ
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